4" MArKYNPIA OAYMMIAAA MNMOAITIKHZ OIKONOMIAZ
KYPIAKH 10 MAPTIOY 2024

TO ESETAZTIKO AOKIMIO AMOTEAEITAI AINO AEKA (10) ZEAIAEZ
KAI MEPIAAMBANEI (25) EIKOZI MENTE EPQTHZEIZ MOAAANAHZ EMIAOIHZ

THIS EXAMINATION PAPER CONSISTS OF TEN (10) PAGES
AND INCLUDES 25 (TWENTY-FIVE) MC QUESTIONS

OAHFIEZ NPOZ TOYZX AIAFQNIZOMENOYZ
Mo kade epwTnoN, €MIAEETE KOl YPAWTE TN CWOTA amwdvrnon A, B, ' [ A oto @UAAO TTou oag BO6ONKE.

INSTRUCTIONS TO CANDIDATES
For each question, choose and write the correct answer A, B, C or D in the additional sheet provided.

1. Zt1a ayaBd pe eAaoTikn ¢ATNON:

A. nZnTolpevn TooOTNTA OV PETARAAAETAI O OTTOIAOATTOTE PMETABOAN TNG TIKNAG TOUG.

B. n mooooTiaia peTaBoAf TG ¢nToUuEVNG TTOOOTNTAG €ival n idla Ye TNV TToC0aTIaia JETABOAR TNG
TIWAG TOUG.

. nmooooTiaia yeTaBoAR TG nTOUPEVNG TTOCBTNTAG €ival PMIKPATEPN aTTé TNV TTOCOCTIAIA
METABOARA TNG TIUAG TOUG.

A. n moooaoTiaia petaBoAn TnNG ¢nToUPeEVNG TTOCOTNTAG €ival HEYaAUTEPN ATTO TNV TTOCOCTIAIA
METABOARA TNG TIUAG TOUG.

In goods with elastic demand:

A. the quantity demanded does not change with any change in their price.

B. the percentage change in the quantity demanded is the same as the percentage change in their
price.

C. the percentage change in the quantity demanded is less than the percentage change in their
price.

D. the percentage change in the quantity demanded is greater than the percentage change in their
price.

2. Ortav 10 0pIaKO TTPOIGV augaveTai:

A. T0 OUVOAIKO TTpOIdV auEdveTal ue augovTa pubud.
B. 1O ouvoAiké TTpoidv augdvetal pe @BivovTa pubud.
. TO OUVOAIKO TTPOIGV HEYIOTOTTOIEITAI.
A. TO OUVOAIKO TTPOIOV PEIWVETAI.

When the marginal product increases:

the total output grows at an increasing rate.
the total output grows at a decreasing rate.
the total product is maximised.

the total output decreases.

Cow>»
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3. AivovTal Ta TTI0 KATW UTTOBETIKG OTOIXEIO VIO Wia oIKovouia:

‘Etog Acgiktng Tipwv AET o€ Tpéxouoeg TIpéG € eK.
2020 100 400
2021 110 470
2022 140 520
2023 120 300

To AEI Tou 2023 o€ otaBepég TipéG Tou 2020 eival:

A. €100 ex.
B. €250 ek.
. €40 ex.
A. €300 ex.

The information below relates to an economy:

. GDP at current prices
Year Price Index -
€ millions
2020 100 400
2021 110 470
2022 140 520
2023 120 300

The GDP in 2023 at constant 2020 prices is:

€100 m.
€250 m.
€40 m.

€300 m.

Cow>»

4. H kauTtruAn Tou oplakou kbéoToug (MC) Téuvel TV KauTTUAN Tou péoou ouvoAikoU kéoToug (ATC) oTo:

PO m>

XOUNASGTEPO aNpEio TNG KAUTTUANG TOU PETOU GUVOAIKOU K&oToug (ATC).
uynASTEPO anpEio TNG KAPTTUANG Tou PEaou auvoAikou kbéaToug (ATC).
onpeio TTou yivetal apvnTIKA N KAPTTUAN Tou H€Gou GUVOAIKOU K6aToug (ATC).
oneio Tou undeviletal n KAPTIUAN Tou Péoou ouvoAikou kbéoToug (ATC).

The marginal cost curve (MC) crosses the average total cost (ATC) curve at:

Cow>»

the lowest (minimum) point of the total average cost (ATC) curve.
the highest point of the total average cost (ATC) curve.

the point where total average cost (ATC) curve becomes negative.
the point where total average cost curve (ATC) becomes zero.

5. O 1éAg10¢ avTaywvioudg xapakTnpidetal amo:

P>

TTOAU PEYAAO apIBud ETTIXEIPAOEWY Kal dIAQOPOTTOINUEVA TTPOIOVTA.
TTOAU pEYAAO apIOUO ETTIXEIPAOEWY KAl ATTOAUTA OUOIOYEVH TTPOIOVTA.
TTOAU HIKPO apIBUO ETTIXEIPACEWY Kal OIaPOPOTTOINUEVA TTPOIOVTA.
TTOAU HIKPO apIBUO ETTIXEIPACEWY KOl ATTOAUTA OUOIOYEVH) TTPOIOVTA.
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The perfect competition is characterised by:

Cow>»

a very large number of companies selling differentiated products.
a very large number of companies selling perfectly homogeneous products.
a very small number of companies selling differentiated products.
a very small number of companies selling perfectly homogeneous products.

6. AiveTal 0 TTaOpaKATW TTiVAKAG:

Api1Bpé6g Epyatwv 2uvoAIko Mpoidv Méoo lMpoidv Op1ak6 Mpoidv
L QRTP AP MP
0 0 - -
1 30 30 30
2 70 35 ?

Moio eival To oplakd TTPoidv aTov 2° epydTn;

70
40
30
35

B>

The following table is given:

Number of workers Total Product Average Product Marginal Product
L QorTP AP MP
0 0 - -
1 30 30 30
2 70 35 ?

What is the 2"d worker’'s marginal product?

70
40
30
35

Cow>»

B w >

MIKPOTEPN gival N EAAOTIKOTNTA {TNONG TOU.
MIKPOTEPN gival N EAACTIKOTNTA TTPOCPOPAS TOU.
MeyaAUTePN gival N eEAAOTIKOTATA CTNONG TOU.
MeYaAUTEPN €ival N EAAOTIKOTNTA TTPOCPOPAG TOU.

When specialised factors of production are required for the production of a product, then:

7. 'O0o0 0o €EEIBIKEUPEVOI TTAPAYWYIKOI CUVTEAECTEG ATTAITOUVTAI YIO TNV TTAPAYWYT) VOGS TTPOIdVTOG, TOOO0:

the price elasticity of demand is less elastic.
the price elasticity of supply is less elastic.
the price elasticity of demand is more elastic.
the price elasticity of supply is more elastic.

Cow>»
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Otav 10 opiakd Trpoidv (MP) sival peyaAitepo atod 1o yéao mpoidv (AP):

P>

When the marginal product (MP) is greater than the average product (AP), then:

Cow>»

TO METO TTPOIOV YiveTal apvnTIKO.
TO MECO TTPOIOV YEYIOTOTTOIEITAI.
TO p€CO TTPOIdV augdveral.
TO MECO TTPOIOV PEIWVETAI.

the average product becomes negative.
the average product is maximised.
the average product increases.
the average product decreases.

Aivetal o TTapakdTw TTivakag:

Movdadeg ZuvoAik6 KéoTtog Opiaké KéoTog
Mapaywyng TC MC
Q € €
0 500 -
40 900 10
70 1170 ?

Moio gival To oplakd KOOTOG OTIG 70 PovAdES TTapaywyYNAG;

A9

B. 70

r. 270
A. 1170

You are given the table below:

Units Total Cost Marginal Cost
Produced TC MC
Q € €
0 500 -
40 900 10
70 1170 ?

What is the marginal cost for the production of 70 units?

A.

B. 70
C. 270
D. 1170
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10. MNoia emmAoyr atrd TIG TTIO KATW, ATTOTEAEITAI JOVO aTTO agavr KOoTN;

Tokol 16iwv Ke@alaiwv, TEKUAPTA eVOIKIA, TTIPWTEG UAEG.
duaciohoyikd kEpdog, TOKoI daveiwy, PIoBoi UTTAAAAAWY.
MioB6¢ emixeipnuartia, Tékol 16iwv KeQaAaiwy, TEKUAPTE voikia.
duaciohoyikd kEPDOG, TEKUAPTA eVOIKIa, TTPWTES UAEG.

P>

Which of the following consists only of implicit costs?

Interest on owners’ capital, imputed rents, and raw materials.
Normal profit, interest on loans, and salaries of employees.
Entrepreneur's salary, interest on owner’s capital, and imputed rents.
Normal profit, imputed rents, and raw materials.

Cow>»

11. A6 10 ABpOICHA TNG TPEXOUCAC TTOPAYWYAS AyaBwV Kal UTTNPECIWY atrd OAOUG Toug KAGdoUG
TTapaywyng (TTPWTOYEVAG ToEaG, OEUTEPOYEVNG TOPEAG, TPITOYEVAG TOUEAG) TTPOKUTITEN TO:

aKaBdapIOTO £yXWPIO TTPOIOV CE TINEG AyOPAG.
aKaBAPIOTO EYXWPIO TTPOIOV € TINEG CUVTEAEDTWV.
akaBdpioTo €0vIKG TTPOIdV € TINEG ayopdG.
aKkaBAapIoTo €BVIKO TTPOIGV O TINEG CUVTEAECTWV.

B>

The sum of the current production of goods and services by all industries (primary sector, secondary
sector, tertiary sector) is the:

gross domestic product at market prices.
gross domestic product at factor prices.
gross national product at market prices.
gross national product at factor prices.

Cow>»

12. H kauTTuAn Tou oplakou k6oToug (MC) oTnv apxr KaTEpXETal yIoTi ETTIKpATOUV TA:

avaAloyikda Kal aTabepd £€0da.
@Bivovta Kal avgovTta £€oda.

avaloyikd kal augovta £€0da.
avaloyikd Kal gBivovTta £¢0da.

PO m>

The marginal cost curve (MC) initially descends because the following prevail:

proportional and fixed costs.
decreasing and increasing costs.
proportional and increasing costs.
proportional and decreasing costs.

Cow>»
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13. Mia eTmixeipnan €mTuyxXavel To ApiaTo TiTTed0 TTapaywyng (optimum), dnAadn, YEYICTOTTOIEI TA CUVOAIKA
NG KEPDN oTaV:

A. opiakd Tpoidv (MP) = oplako k6aTog (MC).
B.
r
A

oplako TTpoidv (MP) = opiakd €0odo (MR).
oplako €00do (MR) = oplakd k6oTog (MC).

. oplok6 £€00d0 (MR) = guvoAiké TTpoidv (TP).

A company achieves its optimum level of production, i.e. maximises its total profits when:

Cow>»

marginal product (MP) = marginal cost (MC).
marginal product (MP) = marginal revenue (MR).
marginal revenue (MR) = marginal cost (MC).
marginal revenue (MR) = total output (TP).

14. Muwg etnpedlovTtal Ta guvoAIKG €00da piag eTTiXeipnong TTou TTOUAd ayaBd pe aveAaoTiKn {ATnon, o€ yia
auénaon TNG TIUAG TWV CUYKEKPIPEVWVY ayabwy, 6Tav 6Aoil o1 AAOI TTPOaBIOPICTIKOI TTAPAYOVTEG TNG
{NTnNong TTou £TTNPEACOUV Ta CUYKEKPIPMEVA ayaBd TTapapEvouv oTabepoi;

A.
B.
r.
A

Mapartnpeital aténon ota ocuvoAikd £€00da TNG ETTIXEIPNONG.
Maparnpeital peiwon ota cuvoAikd €é00da TNnG £TTIXEIPNONG.
Ta ouvoAikd €00da TnG eTmxeipnong dev PeTaBaAAovTal.

Ta ouvolikd €éo0da NG €TTIXEIPNONG PEYIOTOTTOIOUVTAI.

How is the total revenue of a business selling goods with inelastic demand affected by an increase in the
price of those goods, when all other demand determinants affecting those goods remain constant (i.e.
ceteris paribus condition)?

Cow>»

There is an increase in the total revenue of the business.
There is a decrease in the total revenue of the business.
The total revenue of the business does not change.

The total revenue of the business is maximised.

15. ¥¢ 11010 OTAdIO BPICKETAI TO TTIO ATTOTEAEOUATIKG ETTITTESO TTAPAYWYNG YA Hia eTTIXEipNON;

B>

214810 aUEoVToG OpPIaKOU TTPOIGVTOG.
214610 PBivovTog OpIaKOU TTPOIGVTOG.
214010 apvnTIKOU 0PIGKOU TTPOIOVTOG.
210 0TAdI0 PBivoVTOG OpIaKoU TTPOIGVTOG 1] GTO OTASIO APVNTIKOU OPIOKOU TTPOIGVTOG.

Which of the following stages is the most effective level of production for a business?

Cow>»

The ascending marginal product stage.

The descending marginal product stage.

The negative marginal product stage.

Either at the descending marginal product stage or at the negative marginal product stage.
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16. H apoiffi evog Meppavou Tou epyadetal TTpoowpiva otnv KUTrpo atroteAei H€pog:

A

B.

TOU aKABAPIOTOU £yXWpPIoU TTPOIGVTOG TNG KUTTpoU Kal ToU akaBdpIoTou eyXWPIoU TTPOIOVTOG
NG MNeppaviag.

TOU aKaBAPIOTOU £BVIKOU TTPOidvToG TNG KUTTpou Kal Tou akaBdpioTou €0vIKOU TTPOIdvVTOG TNG
lepupaviag.

TOU OKaBAPIOTOU €yXWpPIOU TTPOIGVTOG TNG Neppaviag Kal Tou akaBdapioTou €BVIKOU TTPOIGVTOG
™G Kutrpou.

TOU OKABAPIOTOU €yXWpPIOU TTPOIGVTOG TNG KUTTpou Kal Tou akaBdpioTou €BVIKOU TTPoidvTog TNG
Iepuaviag.

The remuneration of a German citizen working temporarily in Cyprus is part of:

Cow>»

the gross domestic product of Cyprus and the gross domestic product of Germany.
the gross national product of Cyprus and the gross national product of Germany.
the gross domestic product of Germany and the gross national product of Cyprus.
the gross domestic product of Cyprus and the gross national product of Germany.

17. Mia yewpyikr) yovada rapdyel TopTokdAia Kal Ta TTOUAd O€ pia Blounyavia Trapaywyrg XUPWY avTi
€5.000. H Biounxavia Topaywyng XUPWY PETATPETTEI TA TTOPTOKAAIO G€ XUPOUG Kal TOUG TTOUAG O€
utrepayopég Evavti €10.000. Or utrepayopég TTwWAOUV TOUG XUMOUG o€ KaTavaAwTég avTi €20.000.
Ta guvoAikd apyIka atroBEpaTta OAwyY Twv TTIo TTavw oTadiwyv gival €2.500 kal Ta GUVOAIKA TEAIKA
amobéuara gival €3.000.

H a&ia Tou trpoidvTog TTou Ba TrepiAngBei oto AET Ba cival:

B m>

€35.000
€20.500
€19.500
€20.000

An agricultural unit produces oranges and sells them to a juice-making factory for €5.000.

The juice-making factory turns the oranges into juice and sells them to supermarkets for €10.000.

The supermarkets sell the juice to their customers for €20.000.

The total opening inventories (stocks) of all the above stages are €2.500 and the total closing inventories
(stocks) are €3.000.

The value of the product to be included in the GDP will be:

A. €35.000
B. €20.500
C.

D. €20.000

€19.500

18. Ta €€oda 1Tou petaBdAAovTal pe Bpadutepo pubud atd Tov pubud PeTABOAAG TNG TTAPAYWYNAS
ovouddovrat:

P m>

avaloyikd £€0da.
auéovTta £€0da.
oTaBepd £¢€0da.
@BivovTta £¢€0da.
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A. proportional costs.
B. increasing costs.

C. fixed costs.

D. decreasing costs.

Costs that change at a lower rate than the rate of change in output are called:

19. AiveTal 0 TTAPAKATW TTIVAKOG KE TO OEDOMEVA WIAG AVTAYWVIOTIKAG ETTIXEIPNONG:

Movadeg Méoo KéoTog | ZuvoAikd 'Ecoda

Mapaywyng AC TR
Q € €
0 - 0
1 140 80
2 100 160
3 80 240
4 70 320
5 68 400
6 70 480
7 75 560

3 povadeg.
4 povadeg.
6 povadeg.
7 Jovadeg.

PO w>

2€ TTola Jovada TTapaywyng JEYIOTOTTOIEITAI TO KEPOOG TNG ETTIXEIPNONG;

The following table provides data of a competing (perfectly competitive) business:

Units of Average Cost Total Revenue

Production AC TR
Q € €
0 - 0
1 140 80
2 100 160
3 80 240
4 70 320
5 68 400
6 70 480
7 75 560

3 units.
4 units.
6 units.
7 units.

Cow>»

The business achieves the profit maximization point at:
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20.

Ortav n eAaoTikOTATA £TNONG £vOG ayabou sival 1,5 kai n TR augavetal katd 10%, n {nTouuevn
TTOoOTNTA TOU:

Ba auénbei 6,67%.
Ba pelwbei 6,67%.
Ba auénbei 15%.
Ba peiwbei 15%.

PO m>

When the price elasticity of demand of a good is 1.5 and the price increases by 10%, then the quantity
demanded:

will increase by 6,67%.
will decrease by 6,67%.
will increase by 15%.
will decrease by 15%.

Cow>»

21.

ZUuQwva pe Tov vouo Tng eBivoucag amodoang, otav pe dedouévn TEXvoAoyia augdveral Evag
OUVTEAEOTAG TTAPAYWYNGS, EVW OAoI oI GAAOI TTapapévouy oTabepoi, To TTPOCGOETO TTPOIOV aTTd KABE
emITTAéOV povada Tou PeTaBANTOU OuVTEAEDTH apXiCel va:

au&dveral ge augovrta pubuo.
@TAVEl OTO PEYIOTO Onueio.
au&averal.

MEIWVETAL.

POw>

According to the law of diminishing returns and assuming the state of technology remains unchanged,
when one factor of production increases, while all others remain constant, the additional product from
each additional unit of the variable factor begins to:

grow at an increasing rate.
reach the maximum point.
increase.
decrease.

Cow>»

22,

H diadikacia ammaAsiyng (agaipeong) Tng emmidpacng TNG METABOAAG TWV TINWV ATTO TA OIKOVOUIKG PEYEDN
ovoudderai:

TTANBWPIoUOG.
aTroTTANBWPIoUAG.
ovopaoTiké AETM.
TENIKA agia.

P>

The process of adjusting and eliminating (subtracting) the effect of price changes from economic
indicators is called:

A. inflation.

B. price deflator / indexation.
C. nominal GDP.

D. final value.
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23. Qg eT1i TO TTAEiOTOV, O€ TTOIO HOPYPR AYOPAS AVAKEI MIO ETAIPEIR TTOU TTOUAG poUXa;

TéAelo avTaywvioo.
OAlyoTTwAIO.

MovoTrwAio.

MovOoTTwAIOKO avTaywVIoUO.

POw>

Most likely, the type of market to which a company that sells clothing items belongs to, is:

perfect competition.
oligopoly.

monopoly.

monopolistic competition.

Cow>»

24. H mapaxwpnon SIMMAWPATWY €UPECITEXVIOG (patents) o€ eQeUPETEG OTTO TO KPATOG, ATTOTEAE:

OIKOVOWIKA aiTia dnuioupyiag povoTTwAiou.
QUOIKA aiTia dnuioupyiag HOvOTTwAIoU.
VOUIKG aiTia dnuioupyiag JovoTtwAiou.
KAIgaToAoyIKd aiTia dnuioupyiag yovoTrwAiou.

B>

The granting of patents to inventors by the state is the source of:

monopoly due to economic reasons (natural monopoly due to very low average cost).
monopoly due to natural reasons (complete control over natural resources).
monopoly due to legal barriers.

monopoly due to climatic conditions.

Cow>»

25. Mia etmixeipnon Kataokeuddel BAKESG KIVNTWY TNAEPWVWYV UE KOOTOG TTOPAYWYNS €8 Tnv KABE pia kai TIg
TTOUAd TTpog €27 Tn pia. To 2022 o1 TwAnoeig Tng emmixeipnong aviABav oTig €117.450. To 2023 n
€MYEipNON augnoe TNV TINA TTWANCONG Twv Bnkwv atd €27 og €33. To K6aTOG TTApaywynig 1o 2023
TTapépEIve TO id10 pe To 2022. H eAaoTikGTNTA {ATNONG TOEOU Twv Bnkwy gival 4,5. MNoia gival Ta kEPdn TNG
eTaipeiag 1o 2023;

A. €117.450
B. €54.450
. €41.250
A. €82.650

A firm manufactures mobile phone cases with a production cost of €8 each and sells them for €27 each.
In 2022, the firm's sales amounted to €117.450. In 2023, the company increased the selling price of the
cases from €27 to €33. The cost of production in 2023 remained the same as in 2022. The arc price
demand elasticity of cases is 4,5. What are the firm’s profits in 20237

€117.450
€54.450
€41.250
€82.650

Cow>»

-TEANOZ -
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